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Question Number : 1 Question Id : 145634102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Who won the World Food Prize 2022?
Options :

145634401. ¥ Ratan lal

145634402. # Dr.sanjayrajaram
145634403. ¥ Cynthia Rosenzweig
145634404. ¥ Simon N. Groot

Question Number : 2 Question Id : 145634103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Noble prize for the physical modelling of Earth’s climate, quantifying variability and reliably predicting global warming has been awarded
to .

Options :

145634405. ¥ David Julius
145634406. ¥ Benjamin List
145634407. ¥ Klaus Hasselmann
145634408. ¥ Syukuro Manabe

Question Number : 3 Question Id : 145634104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Where was the UN Climate ¢ Conference (C hgld? "
WWW-.eenadupratibha.net
145634409. ¥ London

145634410. ¥ Johannesburg

145634411. ¥ Glasgow

145634412. # Rio de Jenerio

Question Number : 4 Question Id : 145634105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Where the Commonwealth Games 2022 held?
Options :

145634413, # Paris

145634414. ¥ Birmingham

145634415. # Tokyo

145634416. ¥ Washington

Question Number : 5 Question Id : 145634106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Where is India's first Agriculture Export Facilitation Centre (AFEC) established in May 20217
Options :

145634417. % Pune

145634418. # Delhi

145634419. ¥ Nagpur

145634420. # Chandigarh



Question Number : 6 Question Id : 145634107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

On April 13, 2021, the Department of Agriculture, Cooperation and Farmers Welfare, entered into a Memorandum of Understanding
(MoU) with which company to start a pilot project (AgriStack) in 100 villages of Uttar Pradesh, Madhya Pradesh, Gujarat, Haryana,
Rajasthan and Andhra Pradesh?

Options :

145634421. ¥ Microsoft

145634422. # Google

145634423, % Tata Consultancy Services
145634424, ¥ Infosys

Question Number : 7 Question Id : 145634108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

ISRO ‘Human Spaceflight Expo’ at Jawaharlal Nehru Planetarium,2022 is scheduled to be held in Bengaluru on:
Options :

145634425, % 22 July to 24 July 25, 2022

145634426. % 15 August to 16 August, 2022

145634427, % 21 November to 23 November, 2022

145634428. % 13 January to 14 January, 2023

Question Number : 8 Question Id : 145634109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

corct arks s 1 wrome MWWV . €E€NAAUPIratibha. net

Who launched the “PM-Ayushman Bharat Health Infrastructure Mission” on October 25, 2021, in Varanasi, Uttar Pradesh?
Options :

145634429. # Shri Ram Nath Kovind

145634430. ¥ Shri Narendra Modi

145634431. ¥ Shri Yogi Adityanath

145634432, % Shri Muppavarapu Venkaiah Naidu

Question Number : 9 Question Id : 145634110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

MoHUA has launched Swachh Survekshan 2023 under Swachh Bharat Mission Urban 2.0, with the theme of .
Options :

145634433, % Clean city Green City

145634434, % Beat Pollution

145634435, ¥ Waste to Wealth

145634436. ¥ Integrating waste to greenry

Question Number : 10 Question Id : 145634111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following state is the winner of Ranji trophy 2022?
Options :

145634437, % Utter Pradesh

145634438. ¥ Madhya Pradesh



145634439. #* Himachal Pradesh
145634440. # Tamil Nadu

Question Number : 11 Question Id : 145634112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which ministry has launched National Air Sport Policy 2022?
Options :

145634441. ¥ Ministry of Defense

145634442. ¥ Ministry of Sports

145634443, % Ministry of Education

145634444. ¥ Ministry of Civil Aviation

Question Number : 12 Question Id : 145634113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The theme of the World Environment Day 2022 was
Options :

145634445, ¥ Environment and We

145634446. # Invest In Our Planet

145634447. ¥ Only One Earth

145634448. % Beat Plastic Pollution

Question Number : 13 Question Id : 145634114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A l\admum Instruc 'mBrF]: 0 Negative Marks Display Text : 1/3

Option Orientation : VerticWWW . ee n a u p ra a - n e

Correct Marks : 1 Wrong Marks : 0.33
How many new wetlands from India have been declared as Ramsar sites in current year (2022)?
Options :

145634449, % 18

145634450. # 14

145634451, ¥ 28

145634452, # 9

Question Number : 14 Question Id : 145634115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is NOT a natural resource?
Options :

145634453, % Concrete

145634454. ¥ Coal

145634455. ¥ Cow Dung

145634456. % Petrol

Question Number : 15 Question Id : 145634116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is an example of dicotyledon plant?
Options :

145634457. ¥ Wheat



145634458. % Rice
145634459. ¥ Peanut
145634460. * Maize

Question Number : 16 Question Id : 145634117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The human saliva has an average pH of
Options :

145634461. # 5.5

145634462. ¥ 6.7

145634463. % 7.8

145634464. ¥ 9.1

Question Number : 17 Question Id : 145634118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Cyanocobalamin is a synthetic form of vitamin
Options :

145634465. # Bl

145634466. ¥ B2

145634467. ¥ B6

145634468. ¥ B12

Question Number : 18 Quegti 145634 jopdypd ; i syes n Mandatory : No
Calculator : None ResP"“WWW‘ﬁ%Mﬁ&ﬁﬁﬁt%ﬁé’ [ rks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following mitigation/prevention strategy will not prove to be effective to tackle flooding?

Options :

145634469. % Construction of basement in houses

145634470. ¥ Construction of diversion levees

145634471. ¥ Check dam construction

145634472. % Dense tree plantation in vulnerable regions

Question Number : 19 Question Id : 145634120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following color means 'be prepared' in the context of color code warning for cyclones in India?
Options :

145634473. ¥ Green

145634474. ¥ Yellow

145634475, % Orange

145634476. ¥ Red

Question Number : 20 Question Id : 145634121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
In India, any kind of habitation in a radius of around a nuclear reactor is prohibited from safety point of view.
Options :



145634477. # 1km
145634478, % 1.5km
145634479. ¥ 2 km
145634480. ¥ 2.5km

Question Number : 21 Question Id : 145634122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following disaster CANNOT be monitored using satellite remote sensing?
Options :

145634481. #¥ Tsunami in coastal areas

145634482. % Flooding

145634483. ¥ Spread of a disease amongst humans

145634484, % Forest wildfires

Question Number : 22 Question Id : 145634123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statement is INCORRECT about the functions of environment?
Options :

145634485. ¥ Sustains life

145634486. ¥ Provide renewable resources only

145634487. ¥ Provides aesthetic services

145634488. # Assimilates waste
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Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

How many Sustainable Development Goals (SDGs) were adopted by United Nations Organization in the year 2015?
Options :

145634489. # 10

145634490. ¥ 13

145634491. ¥ 17

145634492, % 21

Question Number : 24 Question Id : 145634125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following actions taken by a government can be considered as a step taken towards achievement of Sustainable Development
Goals?

Options :

145634493. # Lowering the prices of petrol and diesel.

145634494, ¥ Levying high taxes on food grains.

145634495. + Subsidising the installation of Solar Panels.
145634496. % Allowing unregulated exploitation of seabed resources.

Question Number : 25 Question Id : 145634126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following mountain/hill range is located in central India?



Options :

145634497. ¥ Gharo
145634498. % Nilgiri
145634499. # Arakan Yoma
145634500. ¥ Satpura

Question Number : 26 Question Id : 145634127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following regions of India is rich in metallic mineral resources?
Options :

145634501. # Gangetic Plains

145634502. #¥ Malwa Plateau

145634503. # Brahmaputra Valley

145634504. ¥ Peninsular Plateau

Question Number : 27 Question Id : 145634128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following state has highest potential for wind energy in India (according to Ministry of New and Renewable Energy)?
Options :

145634505. ¥ Gujarat
145634506. ¥ Karnataka
145634507. % Maharashtra
145634508. # Tamil Nadu

www.eenadupratibha.net

Question Number : 28 Question Id : 145634129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following region in India is famously known for bad land topography?
Options :

145634509. # Western Coastal Plains

145634510. ¥ Chambal basin

145634511. # Godavari delta

145634512. # Rann of Kutchh

Question Number : 29 Question Id : 145634130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following river/tributary does NOT originates from Mansarovar Lake?
Options :

145634513. # Sutlej

145634514. ¥ Indus

145634515. ¥ Beas

145634516. #¥ Brahmaputra

Question Number : 30 Question Id : 145634131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



Name the first female governor of Telangana.
Options :

145634517. ¥ Tamilisai Soundararajan
145634518. ¥ Narmada Akka

145634519. #¥ Renuka Choudhary
145634520. # Reddy Shanthi

Question Number : 31 Question Id : 145634132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which session of Andhra Mahasabha demanded a separate Telugu university?
Options :

145634521. ¥ Second

145634522. % Third

145634523, + First

145634524. # Fourth

Question Number : 32 Question Id : 145634133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

As per NSS survey from July 2017 to June 2018, female literacy rate in Andhra Pradesh is approximately .
Options :

145634525. % 41.15%

145634526. % 51.2%

145634527. ¥ 59.5%

s e WWW.€€NAdupratibha.net

Question Number : 33 Question Id : 145634134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following metals was NOT used by satavahanas in issuing coins?
Options :

145634529. ¥ Nickel

145634530. ¥ Lead

145634531. ¥ Copper

145634532, # Silver

Question Number : 34 Question Id : 145634135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

How much amount, the ministry of housing and urban affairs has approved under ‘Garbage free cities’ in Andhra Pradesh in February
2022?

Options :

145634533, ¥ % 235 crore
145634534, % % 354 crores
145634535, % % 250crores
145634536. ¥ X 413crores

Question Number : 35 Question Id : 145634136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.33

As per YSR Pension Kanuka Scheme launched in January 2022, the old age pension amount has been increased from per month
to per month.
Options :

145634537. # 1500; 1750
145634538. % 1750, 2250
145634539. # 2000; 2500
145634540. ¥ 2250; 2500

Question Number : 36 Question Id : 145634137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Who was the founder of Brahmo samaj with combined Andhra Pradesh?
Options :

145634541. % Kandukuri Veeresalingam

145634542, % Prolaya vema Reddy

145634543. ¥ Haribabu

145634544, ¥ Nissankararo

Question Number : 37 Question Id : 145634138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Name the project launched by the state of Andhra Pradesh for a comprehensive e-governance to simplifying the process of delivery of
government and citizen services.

Options :

145634545. % Citi Net d t b h t
s s cos - www,eenadupratibha.ne
145634547, # e-Jan seva

145634548. # Digital citisev

Question Number : 38 Question Id : 145634139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which project is designed to eliminate the maladies affecting the conventional registration system by introducing electronic delivery of all
registration services in Andhra Pradesh (AP)?

Options :

145634549. ¥ Computer aided Administration of Registration Department
145634550. ¥ A.P. Smart Card Project

145634551. # Capital Region Development Project

145634552, ¥ Prajavani e-governance Project

Question Number : 39 Question Id : 145634140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following river does NOT pass through the state of Andhra Pradesh?
Options :

145634553, % Krishna

145634554, # Godavari

145634555. % Pennar

145634556. ¥ Mahanadi



Question Number : 40 Question Id : 145634141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following coastal plains can be found in the state of Andhra Pradesh?
Options :

145634557. ¥ Konkan

145634558. ¥ Northern Circars

145634559. # Coromondal

145634560. ¥ Malabar

Question Number : 41 Question Id : 145634142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the soil covers maximum area in the state of Andhra Pradesh?
Options :

145634561. % Black Soil

145634562. # Alluvial Soil

145634563. ¥ Red Soil

145634564. # Laterite Soil

Question Number : 42 Question Id : 145634143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following tree species is endemic to the state of Andhra Pradesh?

ons: WWW.eenadupratibha.net

145634566. * Teak Tree
145634567. ¥ Mahogany
145634568. # Deodar

Question Number : 43 Question Id : 145634144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following major minerals has highest share to the total mineral resources, after beach sands found in Andhra Pradesh?
Options :

145634569. ¥ Bauxite

145634570. # Limestone

145634571. # Hematite

145634572, # Calcite

Question Number : 44 Question Id : 145634145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following potential geothermal site was earlier located in the state of Andhra Pradesh and now part of Telangana?
Options :

145634573. % Manikaran

145634574, % Khammam

145634575, % Surajkund

145634576. # Tapoban



Question Number : 45 Question Id : 145634146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which part of the Andhra Pradesh Reorganisation act 2014 deals with “PROVISIONS AS TO SERVICES”?
Options :

145634577. # Part IV

145634578. # Part VI

145634579. % Part VIII

145634580. # Part X

Question Number : 46 Question Id : 145634147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Section of the Andhra Pradesh Reorganisation act 2014 deals with Equal opportunities for quality higher education to all students.
Options :

145634581. % 85

145634582. # 90

145634583, ¥ 95

145634584, % 99

Question Number : 47 Question Id : 145634148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which sections of Andhrg PWWW%E ﬁt ﬂamlap:tatmnata erkht to recover loans and
advances on location basis is M1 ¥oM¥v an S t %

Options :

145634585. ¥ Section 50 and 51

145634586. # Section 50 and 56

145634587. % Section 51 and 56
145634588. ¥ Section 55 and 56

Question Number : 48 Question Id : 145634149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

After bifurcation in 2014, how many districts Andhra Pradesh lost to Telangana?
Options :

145634589. # 8

145634590. # 10

145634591, % 11

145634592. % 13

Question Number : 49 Question Id : 145634150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Rayalaseema lift irrigation scheme is a water disputes between Andhra Pradesh and Telangana state Govt. for diverting the water of

Options :
145634593, # Srisailam
145634594, % Nagarjuna



145634595, % Buggavagu
145634596. ¥ Zurreru

Question Number : 50 Question Id : 145634151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

FDI inflows in Andhra Pradesh between January 2021 to December 2021 were US$ 178.09 billion and the state ranked in India in
terms of FDI inflows.

Options :

145634597. % 11th
145634598. " 13th
145634599. # 15th
145634600. ¥ 17th

Question Number : 51 Question Id : 145634152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
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What was the area under food grain cultivation in Andhra Pradesh during the 2021-22 financial year?
Options :

145634601. ¥ nearly 41.44 lakh hectares

145634602. ¥ nearly 44.44 lakh hectares

145634603. ¥ nearly 47.44 lakh hectares

145634604. ¥ nearly 49.44 lakh hectares

Question Number : 52 Questlon Id : 145634153 Questlon Ty MCQ Optio ng : Yes Is Quesgion Mandatory : No
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Gross Value Added (GVA) growth of Andhra Pradesh during the 2021-22 stood at nearly:

Options :

145634605, # 12.14%

145634606. ¥ 18.47%

145634607. ¥ 25.21%

145634608. # 33.12%
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What is the number of notified SEZ's in Andhra Pradesh as on July 20217
Options :

145634609. ¥ 23

145634610. # 25

145634611. ¥ 27

145634612, % 29
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As of financial year 2022, the Visakhapatnam port ranks in terms of port traffic.
Options :

145634613. % first



145634614. * Second
145634615, % third
145634616. # fourth
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AMTZ is an enterprise under the Government of Andhra Pradesh, dedicated to development of
Options :

145634617. * IT industry

145634618. ¥ Medical Equipment's

145634619. # Biotechnology

145634620. ¥ Packed food industry
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In which field Michellee Poonawall received the Shiromani Award at NRI World Summit 2022 in the United Kingdom?
Options :

145634621. ¥ Art

145634622. % Music

145634623. # Dance

145634624. ¥ Theater

Question Number : 57 Quegti 1145634 lop-Jyad ; i A jon Mandatory : No
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Who of the following is NOT the winner of Pulitzer awards in 2022?

Options :

145634625. % James ljames

145634626. ¥ Nicole Eustace

145634627. ¥ Diane Seuss

145634628. ¥ Katori Hall
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The 31st edition of the Southeast Asian Games was hosted in Hanoi Vietnam in the year 2022. How many participating countries were
there in the 31st SEA Games?

Options :

145634629. ¥ 11
145634630. # 10
145634631, % 12
145634632. % 18

Question Number : 59 Question Id : 145634160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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What was the time taken by the female sprinter Sifan Hassan When she set a new world record in the 10,000 meters race in the year 2021?
Options :



145634633. % 29 minutes 6.82 seconds
145634634, ¥ 24 minutes 5.80 seconds
145634635. ¥ 26 minutes 6.20 Seconds
145634636. ¥ 28 minutes 6.82 seconds
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Which of the following is NOT part of agriculture science technology?
Options :

145634637. ¥ Crop cultivation

145634638. ¥ Animal products for human consumption and use
145634639. ¥ Rainwater harvesting

145634640. # Soil cultivation
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The Union Education Minister has launched the reading campaign ‘Padhe Bharat’. The launch of the Days reading Campaign is in
alignment with National Education Policy 2020 which lays emphasis on the promotion of joyful reading culture for children by ensuring
the availability of age -appropriate reading books for children in local/mother tongue/regional/tribal language.

Options :

145634641. % 100 Days
145634642, ¥ 365 Days
145634643. % 50 Days

145634644. ® 300 Days Wwweenad u pratl bha . net
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Karnataka Chief Minister Basavaraj Bommai Launched a new health and wellness app AAYU to address and heal chronic diseases and
lifestyle disorders through

Options :

145634645. ¥ yoga and homeopathy medication
145634646. ¥ yoga and ayurveda medication
145634647. ¥ homeopathy and ayurveda meditation
145634648. ¥ yoga and medication
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Which of the following features is INCORRECT about the PM - Jay health Scheme?

Options :

145634649. ¥ PM- JAY is the world’s second largest health insurance /assurance scheme fully financed by the government.

145634650. # It provides a cover of Rs.5 Lakh per family per year for secondary and tertiary care hospitalization across public and
private empanelled hospitals in India.

145634651. ¥ PM- Jay envision to help mitigate catastrophic expenditure on medical treatment.

145634652, # It covers up to 3 days of pre - hospitalization and 15 days post - hospitalization expenses such as diagnostics and
medicines.

Question Number : 64 Question Id : 145634165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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Who has become the first athlete to complete the race in less than nine minutes in the women’s 3000m race event in 20227
Options :

145634653. ¥ Hima Das

145634654. ¥ Dutee Chand

145634655. ¥ Parul Chaudhary

145634656. ¥ Nirmala Sheoran

Question Number : 65 Question Id : 145634166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is NOT related to the Khelo India Programme?
Options :

145634657. # State and national level Khelo India centers

145634658. ¥ Monthly sports Competition

145634659. ¥ Physical fitness of school children

145634660. ¥ Support to National/ Regional/ State and Sports academics
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Which of the following statement is INCORRECT about the new Alpine Plant Species?

Options :

145634661, ¥ A group of SW rean agﬂpir iebshainenaeetrawang district.
145634662. # A new species of plant belongs to the family of Himala¥an sunTlowers. -

145634663. # It has been named as Cremanthodium indicum.

145634664. ¥ As per the IUCN guideline, this Alpine Plant species has been listed as critically endangered.
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have installed the first- ever Made in India Surgical Robotic System, ‘SSI Mantra’, devised by the new age Indian med-tech start-
up SS Innovations.

Options :

145634665. ¥ Dharamshila Cancer Foundation and Research Center
145634666. ¥ Gaudham Ayurvedic Cancer Treatment & Research Center
145634667. ¥ Rajiv Gandhi Cancer Institute and Research Center
145634668. ¥ Great Forte Medical Research Foundation
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Which of the following is NOT one of the functions of Glucagon?

Options :

145634669. ¥ Glucagon is essential for your health. It supports cell growth, immune function, fetal development and vision.

145634670. ¥ Glucagon triggers your liver to convert stored glucose (glycogen) into a usable form and then release it into your
bloodstream. This process is called glycogenolysis.

145634671. ¥ Glucagon helps your body make glucose from other sources, such as amino acids.

145634672. ¥ Glucagon can also prevent your liver from taking in and storing glucose so that more glucose stays in your blood.
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Which of the following is matched INCORRECTLY?

Options :

145634673. ¥ Protein - Needed for the building of antibodies and immune system cells.

145634674. ¥ Vitamin A - Helps regulate the immune system and protect the body by keeping skin and tissues in the mouth.
145634675. % Vitamin C - helps the body build healthy skin.

145634676. ¥ Zinc - Helps to activate immune cells and properly regulate their function.
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What cooking methods involve a small amount of hot liquid, ideally at a temperature between 160 and 180F usually done with eggs,
delicate grains and certain veggies?

Options :

145634677. ¥ Blanching
145634678. ¥ Baking
145634679. ¥ Broiling
145634680. ¥ Poaching
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Which of the following is gNWaWWﬁ(erelmald u p ratl b h a . n et
Options :

145634681. ¥ Non Planning required

145634682, ¥ Bushfire mitigation activates

145634683. ¥ Improvements to infrastructure or services

145634684. ¥ Flood levees activates
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Which of the following is NOT a type of mitigation?
Options :

145634685. ¥ Avoidance

145634686. ¥ Minimization

145634687. ¥ Compensatory Mitigation
145634688. % Planning Mitigation
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Which of the following is NOT a component of the Remote Sensing system?
Options :

145634689. # Interaction of Energy with Minimization

145634690. # Interaction with Target

145634691. ¥ Transmission, Reception, and Processing



145634692. # Energy Source or Illumination
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Which of the following is NOT the application of remote sensing in disaster management?
Options :

145634693. # Glacial lakes assessment

145634694. ¥ Wildfires

145634695. ¥ Tracking wind pattern

145634696. ¥ Hills management
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One of the following is NOT the function of the environment which is
Options :

145634697. % assimilates waste fill

145634698. ¥ provides genetic & biodiversity

145634699. ¥ recycling

145634700. # supplies renewable resources
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Which city has the most polluted air in the world according to the I s world air Quality report 20217

Options :

145634701. ¥ Lahore
145634702. ¥ Bhiwadi
145634703. ¥ New Delhi
145634704. ¥ Jaunpur
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The objective of environmental sustainability is to

Options :

145634705. ¥ conserve natural resources & protect global eco systems
145634706. # human race

145634707. ¥ protect wildlife

145634708. ¥ animal kingdom
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The Earth's Sources function for natural resources includes water minerals, fish stocks &
Options :

145634709. ¥ Fossil Fuels

145634710. # Trees



145634711. % Herbs
145634712. ¥ Animal
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Which of the following statement is INCORRECT regarding wildlife protection?
Options :

145634713. ¥ Crocodile Breeding and Management Project was launched in 1975.
145634714. # Project Tiger has been implemented since 1973.

145634715. # In 1972, a comprehensive Wildlife Act was enacted, which provides the main legal framework for conservation and
protection of wildlife in India.

145634716. ¥ Project Elephant was launched in 1990 to assist states having free ranging populations of wild elephants.
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As per Annual Report 2021-22 of the Ministry of Mines, production of gold ore in India decreased by % in 2020-21, as compared
to previous year.

Options :

145634717. % 10.4%
145634718. ¥ 9.10%
145634719. ¥ 12.8%
145634720. ¥ 12.3%
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Barring some sporadic occurrences here and there in isolated pockets, minerals are generally concentrated in Three broad belts in India,
which one of the following is NOT one of these belts?

Options :

145634721. ¥ The South-Western Plateau Region
145634722. # The North-Western Region
145634723. ¥ The South-Eastern Region
145634724. % The North-Eastern Plateau Region
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From the given pairs, choose the correctly matched pair.
Options :

145634725. # Indus - Arabian Sea

145634726. ¥ Mahanadi - Bay of Bengal

145634727. ¥ Vaigai - Bay of Bengal

145634728. ¥ Thamirabarani - Gulf of Mannar
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is considered the father of Telugu renaissance movement & was a great Social reformer.



Options :

145634729. ¥ Vedre Ramachandra Reddy Bhoodhan
145634730. ¥ Raghupathi Venkataratnam Naidu
145634731, ¥ Kandukuri Veeresalingam
145634732. ¥ Saraswathi Gora
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To make the Andhra Pradesh state drought free, which river surplus water is used to meet people’s demand for irrigation?
Options :

145634733. ¥ Godavari

145634734, # Indus

145634735. ¥ Yumana

145634736. ¥ Ganges
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Which Chief Minister of the Madras Presidency in the early 1920s said that the Cooum River should be kept as a boundary, giving the
northern portion to the Andhras and the Southern portion to the Tamils?

Options :

145634737. ¥ A Subbarayalu Reddiar
145634738. ¥ Panaganti Ramarayaningar
145634739. ¥ P. Subbarayan

145634740, * B Munuswar\(\PAN\IV . €@ E N ad § p ratl b h a.n et
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Which of the following statement is INCORRECT about the Telugu Desam Party?

Options :

145634741. # Telugu Desam Party was formed in March 1982.

145634742, ¥ Telugu was the first regional party in Independent India to have formed the Main opposition in the 8th Lok Sabha in 1984.
145634743. ¥ N.T. Rama Rao who found the Telugu Desam Party and served as chief Minister of Andhra Pradesh for over six years.

145634744. ¥ TDP espoused no specific ideology except for its commitment of Safeguarding “The Political , Economic ,Social and
Cultural foundations of Telugu speaking people.”
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The Andhra Pradesh under chief Minister N. Chandrababu Naidu has announced rs 100- crore fund of funds on to invest in
Fintech startups.

Options :

145634745, % 25 January 2017
145634746. ¥ 30 May 2018
145634747. % 1 August 2019
145634748. ¥ 4 November 2020
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Andhra Pradesh had record growth of at Constant price 8.9% in the year 2021-22.
Options :

145634749. ¥ 11.43%

145634750. % 12.30%

145634751. % 11.20%

145634752. % 12.10%
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In which year was the separate High Court of Andhra Pradesh established after separation from Telangana?
Options :

145634753, ¥ 10 May, 2010

145634754. ¥ 1 January, 2019

145634755. % 5 August, 2011

145634756. ¥ 7 September 2017
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The share of Andhra Pradesh in service tax as recommended by the 15th financial commission is
Options :

145634757. % 33.18

145634758. % 14.41 Wwweenadupratlbhanet

145634759. % 25.65
145634760. ¥ 82.47
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In August 2015 Tata Trust signed a Mou with the Andhra Pradesh Government to develop 264 villages in Vijayawada Lok Sabha
constituency to work. Which of the following works is NOT related to Tata Trust to the development plan?

Options :

145634761. ¥ Develop girl’s education system
145634762. ¥ Fisheries

145634763. % Nutrition and fortification
145634764. ¥ Work in bamboo cultivation
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On April 25, 2020, the medical and health department of Andhra Pradesh launched a mobile application to keep a track of people
buying medicines over the counter for cough, cold and fever from medical stores across the state.
Options :

145634765. # Corona se Bachav
145634766. ¥ Covid 19
145634767. ¥ Covid Pharma
145634768. ¥ Corona par jeet
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What is the amount approved by the ministry of housing and urban affairs for dumpsite restoration in the state of Andhra Pradesh under
the ‘Garbage Free Cities’ Scheme?

Options :

145634769. ¥ 235 Crore
145634770. ¥ 200 Crore
145634771. ¥ 100 Crore
145634772. ¥ 300 Crore
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Which of the following is NOT the eligibility criterion to apply for YSR Cheyutha Scheme?
Options :

145634773. % Age should be 45 to 60 years

145634774. ¥ Only women can apply for this Scheme

145634775. # You must have a permanent resident in Andhra Pradesh

145634776. ¥ The women who want to apply must have an annual income X 10,000
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145634777. % Vizianagaram
145634778. ¥ Anantapur
145634779. % Nellore
145634780. ¥ Guntur
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Which of the following distinct Andhra Pradesh is NOT found in heavy mineral beach sands?
Options :

145634781. ¥ Visakhapatnam

145634782. ¥ Vizianagaram

145634783. " Kurnool

145634784. ¥ Srikakulam
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Which of the following states has the highest inland fish landings which has a total of 36.11 tonners in the year 2019-2020?
Options :

145634785. ¥ Andhra Pradesh

145634786. % Arunachal Pradesh

145634787. # Assam

145634788. # Bihar
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Which of the following statement is INCORRECT about the rivers of Andhra Pradesh?

Options :

145634789. ¥ Godavari River enters at Bhurgampad Mandal of state of Andhra Pradesh and flows for a distance of around 250 kms
eastward before joining Bay of Bengal.

145634790. # The river Tungabhandra is tributary of Krishna from boundary between Karnataka and Andhra Pradesh for the length of 58
kms.

145634791, ¥ Pennar river originates in Southwest region of Andhra Pradesh.

145634792. % The river Krishna then forms border between the states of Telangana and Andhra Pradesh from Srisailam to Pulichintala
for about 270kms flows passing NSP DAM.

Question Number : 99 Question Id : 145634200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which is the endemic plant that occurs in Andhra Pradesh?
Options :

145634793. ¥ Boswellia Ovalifoliolata

145634794, ¥ Syzygium stocksii

145634795. ¥ Atuna travancorica

145634796. # Ilex gardneriana

Question Number : 100 Question Id : 145634201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None ResponFWWWhiéTéﬁaﬁﬂpwﬁﬁh: é\l eﬁ\éftrks Display Text : 1/3
Option Orientation : Vertic . .

Correct Marks : 1 Wrong Marks : 0.33

Who is appointed as additional district and session’s judge, chittoor government of Andhra Pradesh?

Options :

145634797. # Sri G. Kabardhi.

145634798. ¥ Sri G.Satya Prabhakar Rao

145634799. # Sri S.Prasad

145634800. ¥ Sri N.Srinivasa Rao

Question Number : 101 Question Id : 145634202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is NOT an economically backward area in Andhra Pradesh?
Options :

145634801. ¥ Nellore

145634802. ¥ Nalgonda

145634803. ¥ Kurnool

145634804. ¥ Guntur

Question Number : 102 Question Id : 145634203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Region of Andhra Pradesh is actively associated with the production of petroleum.
Options :
145634805. # Nellore



145634806. ¥ Krishna Godavari
145634807. ¥ Kurnool
145634808. * Visakhapatnam

Question Number : 103 Question Id : 145634204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

In which year did Velugu Framework organize & Federate the Self-Help Groups (SHGs) for the Social and economic empowerment of
women in Andhra Pradesh?

Options :

145634809. ¥ 1990
145634810. ¥ 1998
145634811. # 1980
145634812. % 1987

Question Number : 104 Question Id : 145634205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is NOT the Traditional culture of Andhra Pradesh?
Options :

145634813. % Bamboo work

145634814. # Bidri work

145634815. % Cherial scroll paintings

145634816. #¥ Nirmal paintings

Question Number : 105 Q“WWW@@@‘Q@G : (atnibna\@m @ettion Mandatory : No

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

For the bifurcation of Andhra Pradesh president’s assent was received on
Options :

145634817. % 01 March 2014

145634818. ¥ 10 February 2014

145634819. ¥ 07 March 2014

145634820. ¥ 20 February 2014

Question Number : 106 Question Id : 145634207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Andhra Pradesh is the first state in India to reserve private jobs for their locals in the year 2019.
Options :

145634821. % 60%

145634822. % 70%

145634823, # 65%

145634824. ¥ 75%

Question Number : 107 Question Id : 145634208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Which of the following is NOT an objective of Andhra Pradesh new Industrial policy 2020-23?
Options :



145634825. ¥ To create employment for the youth of the state
145634826. ¥ To plan balanced growth across regions and communities
145634827. ¥ To enhance gainful employment

145634828. # To achieve environmentally sustainable growth

Question Number : 108 Question Id : 145634209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

In February 2021, the state government approved new Employees ‘state Insurance hospital. Of these, construction of a 100 -bed
ESI hospital in Vizianagaram is estimated to be completed by March 2023.

Options :
145634829. ¥ Seven
145634830. # Eight
145634831. ¥ Ten
145634832. # Eleven

Question Number : 109 Question Id : 145634210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following funds has NOT been mandated to administer by the resource mobilization division?
Options :

145634833. # Investment facilitation fund

145634834. ¥ Innovation fund

145634835. # Project development fund

145634836. ¥ Capacity investment project fund
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Question Number : 110 Question Id : 145634211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is NOT the function of the Economic Development Board?

Options :

145634837. ¥ Economic and policy research

145634838. ¥ Mobilization of resources required for supplementing public and private investment
145634839, ¥ Strategic investment planning and promotion

145634840. + Facilitating inter - departmental coordination

Question Number : 111 Question Id : 145634212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
A,B,C.D. E, F and G are sitting in a row facing east. D is third from the south end. C is just right of D. G is sitting

between E and F. B is on endpoint and E is his neighbor. Who is sitting in the centre of the row?
Options :
145634841, # G

145634842, ® D
145634843, ¢ F

145634844, % C



Question Number : 112 Question Id : 145634213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
If the two days after tomorrow is Saturday, what was the day before yesterday?
Options :

145634845, v Monday

145634846, % Luesday

145634847, % Sunday

145634848, % vvednesday

Question Number : 113 Question Id : 145634214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

A,B.C.D, E, and F are six different boxes of different colors i.e.. Black, Orange. Red, Pink. White, and Green but not
necessarily in the same order. There are four boxes between C and the box which is of Black color and Box C is
immediately above the Green color box. Only three boxes are between A and the box which is of Red color. Box D is
placed below A. Only one box is there between B and E and E is not of Green color. Neither box F nor A is of Pink

color. A is of Orange color.
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Which of the following box is of White color?
Options :
145634849, % C

145634850, ¢ F
145634851. % D

145634852, # B

Question Number : 114 Question Id : 145634215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



Three statements are given, followed by two conclusions. Assuming the statements to be true, even if they seem to be at

variance with commonly known facts, decide which of the conclusions logically follow(s) from the statements.
Statements:

1. Some boys are harmful.

J

2. All harmful are rude.

3. Some rude are bad.
Conclusions:

L Some boys are bad.

1L Some rude are harmful.

Options :

145634853 % Only conclusion I follow.

145634854, ¥ Only conclusion IT follow.

145634855, % Both conclusion I and conclusion II follow.

145634856, % Neither conclusion I nor conclusion II follow.

Question Number : 115 QuWWW&}@@HIa'd : (atnima%em &tﬁon Mandatory : No

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Three statements are given, followed by three conclusions. Assuming the statements to be true, even if they seem to be

at variance with commonly known facts, decide which of the conclusions logically follow(s) from the statements.
Statements:

1. All pens are tables.

[

All tables are chairs.

3. All chairs are pencils.

Conclusions:
L All pencils being pens is a possibility
II. Some pencils are definitely tables

1II. All chairs are tables
Options :
145634857, % Only I follow

145634858, % Only 1T follow



145634859 % Only II and I1I follow

145634860 ¥ Only I and II follow

Question Number : 116 Question Id : 145634217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Two statements are given, followed by two conclusions. Assuming the statements to be true. decide which of the

conclusions logically follow(s) from the statements.
Statements:
1. O=P=<H

2. B<V>T=0

Conclusions:
L B=P
II. T=H
Options :

145634861 % Only conclusion L is true

115634560, » Only conc AN @ © N ad U p ratl b h a.n et

145634863, « Neither conclusion I nor II is true

145634864, % Both conclusions I and IT are true

Question Number : 117 Question Id : 145634218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Three statements are given, followed by two conclusions. Assuming the statements to be true, decide which of the

conclusions logically follow(s) from the statements.
Statements:

1. AzB=C

t2

E<D<C

3. G=F<E

Conclusions:



Options :

145634865, « Only conclusion L is true

145634866, % Only conclusion IT is true

145634867, % Neither conclusion I nor II is true

145634868, % Both conclusions I and IT are true

Question Number : 118 Question Id : 145634219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Find the next two terms of the series:

29, F. 40,1, 53, M, 68, R.85, X,
Options :

145634869, % 102, E

145634870, v 104,
145634871, % 104,

145634872, % 102,
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Question Number : 119 Question Id : 145634220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Fill in the blank.

BIK. FKN, IMQ, . RQW, VSZ
Options :
145634873, ¢ NOT

145634874, % NPT
145634875, % OOT

145634876, % OPS

Question Number : 120 Question Id : 145634221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
How many such pairs of letters are there in the word ‘MACHINE’ each of which has as many letters between them as in

the English alphabetical series on both forward and backward direction?
Options :
145634877, % 3



| §]

145634878. %

.

145634879. #

T

145634880. ¥

Question Number : 121 Question Id : 145634222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
What should come in the place of question mark (?) in the following String?

13C, 17F, 1971, 230, ?
Options :
145634881, % 27T

145634882, ¢ 29U
145634883, % 27V

145634884, ¥ 25V

Question Number : 122 Question Id : 145634223 Question Type : MCQ Optlon Shufﬂlng Yes Is Question Mandatory : No
Calculator : None ResponsWWWhléT'eﬁ\Iaﬁ 3\1 ﬁ é’trks Display Text : 1/3
Option Orientation : Verti

Correct Marks : 1 Wrong Marks : 0.33

In a certain code language, ‘ENOUGH” is coded as ‘WNEUOHG’. How will ‘STRAWBERRY" be coded?

Options :

145634885, « TSARBWREYR

145634886, # TSARWBREYR
145634887, ¥ TSABRWREYR

145634888, # TSRABWREYR

Question Number : 123 Question Id : 145634224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Ifin a code, ‘“MINUTE’ is written as ‘WNRMFGV”, then in the same code, ‘NATION would be written as:
Options :

145634889, ¥ MGZRLM

145634890, ¥ MZRGLM

145634891, ¥ MZGLRM

145634892, + MZGRLM



Question Number : 124 Question Id : 145634225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Amit started from point A and moves towards South. After walking for a distance of 60 m, he took a right turn, and
walks for 60 m then he took a right turn, and walk for 100 m after that he took a right turn and walked 30 m. What is the
shortest distance between the starting point and the end point?
Options :

145634893, ¥ 40m

145634894, ¢ S0 m
145634895, % 45 m

145634896. % 60 m

Question Number : 125 Question Id : 145634226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The door of Mohit’s house faces south. From the front side of his house, he turns to his right and walks straight 50 m. he

walks 25 m after turning toward south, then he turns to his right and walks 50 m. Finally, he turns to his right and walks
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145634397, % 100 m, East

145634808, % 120 m, West

145634899, % 120 m, East

145634900, « 100 m, West

Question Number : 126 Question Id : 145634227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
B is sister of C. A is the brother of B. D is the daughter of B. E is the brother of D. C is the daughter of F. Who is the
uncle of E?

Options :
145634901, % B
145634902, ¥ C

145634903, ¢ A

145634904, % F



Question Number : 127 Question Id : 145634228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Looking at a portrait of Rajeev, Aarti said, “He is the son of the father-in-law of the father of my daughter”. How is

Rajeev related to Aarti?
Options :
145634905, « Brother

145634906. % son
145634907, % Father

145634908. % Mother

Question Number : 128 Question Id : 145634229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
In a code language, if

R X S, means add

R — S, means divide

r-s mea s WWW.€ENAUpPratibha.net

R + S, means multiply

then, 17 +27—-3X l4+5=7°
Options :
145634909. ¥ 80

145634910. ¢ 78
145634911, # 70

145634912, % 82

Question Number : 129 Question Id : 145634230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



In a code language, if
R % S, means add

R § S, means divide

R # S, means subtract
R (@ S, means multiply

then, 28 S 7 @ 4% 5% 7 % 24 =12

W

Options :
145634913, #

[#%)
o

%)
=1

145634914. %

145634915, ® 41

T
[#a]

145634916. ¥

Question Number : 130 Question Id : 145634231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Select the correct pair of signs and numbers from the given options which, after interchanging in the given equation,

would make it correct. WWW ] ee n ad u p rati b h a . n et

S X 6+8+4—1=7
Options :
145634917, % X and+, 7and 5

145634918 % —and x,8and 4

145634919 + Tand X, 7and1

145634920 % —and=,4and6

Question Number : 131 Question Id : 145634232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
In a college offering 4 streams the total number of students was 952 consisting of both Male and Female students. There

are 128 female students enrolled for BA History being 16/35 of total students who have enrolled for the said course. The
ratio of Male to Female students in BA English is 5:9 whereas the ratio of Female to Male students in BSc Psychology
is 5:9 with 33 more male students in BSc Psychology when compared to BA English. The total students enrolled for
BSc Math was 294,

Find the total number of female students in BA English and BSc Psychology.
Options :



145634921, % 183
145634922, ¢ 195
145634923, % 216

145634924, % 243

Question Number : 132 Question Id : 145634233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The following pie charts depict the production of cars of two companies A and B for the years 2014-2019.

Company A CompanyB

A

<,

v

170

175

m
l 140

#2004 w2015 =2006 w2017 w2008 #2019 12014 #2015 #2016 »2017 w2015 w2019

Find the difference between the production by company A for years 2015-2017 to the production by company B for the

years 2016-2018. Wwweenadupratlbhanet

Options :
145634925 ¢ 43

n
o

145634926. %

=]

145634927, % 67

145634928, % 2

Question Number : 133 Question Id : 145634234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



The following chart shows the number of students enrolled for engineering course in two colleges A and B for years
2012-2016.

Admission
268 269
224 225
270
300 178 246
2 23 195
£ 200
L
—
2100
L)
o
2012 2013 2004 2015 2016
Year
ms mBE

Which college has seen the second highest percentage increase between two consecutive years compared to previous
year? (Also indicate the percentage up to two decimal places)

Options :
145634929, % B.31.12%

145634930, ¢ 44 20.15%

145634931, % 4. 2L.71%

145634932, % B, 19.64%
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Question Number : 134 Question Id : 145634235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The histogram below shows the rent (in thousand) paid by various tenants for a particular period. Find the number of

people paying rent more than 27000 but less than 11000.

Rent payments

20
15
I |
B 9 10

RENT

25

20
15

10
8
AT
& 7

Options :
145634933, % 32

MO OF TENANTS

1

145634934, % 36

145634935, % 45



145634936. ¢ 47

Question Number : 135 Question Id : 145634236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
From the table given below calculate the ratio of percentage spending (together) on transport and miscellaneous

expenses by Family | to percentage spending (together) on clothing and entertainment expenses by family
2. (Rounded off to whole number)

Item of expense Family 1 | Family 2
Food 250 350
Clothing 90 90
Transport 30 40
Entertainment 50 60
Miscellaneous 80 110
Options :

145634937, % 17:21

145634938, " <4i28

e WWW.eenadupratibha.net

145634940, % 26:27

145634939. #

Question Number : 136 Question Id : 145634237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Observe the following table relating to Sales, Gross and Net profit of a company in Rupees thousands. Answer the

question given below.

Year | Sale | Gross Profit | Net Profit
2010 100 25 15
2011 125 40 10
2012 130 42 12
2013 150 60 50

Find the difference between the numerical value of percent of Net profit on sales for the year 2013 to percentage of
Gross profit on sales for the year 2010.

Options :

145634941, % 5



2
6_
145634942, % 3

1
T —
145634943, %

1
8_
145634944, & 3

Question Number : 137 Question Id : 145634238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
The mean of the given data set is 29. Find the mean absolute deviation of the data set.
(rounded off to two decimal places)

32,25,29,35,30,x

Options :
145634945, % 4.77

145634946, % 4.01

145634947, % 3.65
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Question Number : 138 Question Id : 145634239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

The coefficient of range is 0.582 and the largest value is 72, find the smallest value. (Rounded to nearest whole mimber)
Options :

145634949, % 17

145634950, % 18
145634951, « 19

145634952, % 21

Question Number : 139 Question Id : 145634240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



A survey was conducted to find number of story books each child has in a class:

Numl:::‘uukls' story Frequency
0 3
1 5
2 7
3 15
4 9
5 6
6 2

Find the semi-interquartile range.
Options :
145634953, ¢ 1

145634954, % L.5

| §]

145634955, %

[
LN

145634956. #

Question Number : 140 Question Id : 145634241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

Calculate the standard dWWWe_ eelﬁ ﬂd t‘]ﬁpf’aﬁb h a . n et

48,35,37,41,28,20,39,40,25,45.
Options :
145634957, ¢ 8.47

145634958, % 8.33
145634959, % 8.68

145634960, % 8.89

Question Number : 141 Question Id : 145634242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33



The following is the marks scored by a student in a test. If the assumed mean is A (where A is the least mark scored),

find the actual mean if 3}, d = 42.

Subject Marks
English 71
Math A+18
Science 73
History 74
Geography A
Computer 66
Options :

145634961, % 65
145634962, % 68
145634963, ¢ 72

145634964, % T4

Question Number : 142 Question Id : 145634243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong a033 .
Find the mean height of #h SW\MV{menﬁtmlaedbUQec aI&l Qmacfmeldecimal places).

Height (cm) | Number of students
100-105 10
105-110 18
110-115 20
115-120 26
120-125 30
125-130 28
130-135 18
135-140 20
Options :

145634965, ¢ 121.44
145634966, % 122.21
145634967. ¥ 123.55

145634968, % 124.61

Question Number : 143 Question Id : 145634244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3



Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

Calculate the geometric mean of 15,18 and 25. (Rounded off to one decimal place)
Options :
145634969, ¢ 18.9

145634970, % 19.1
145634971, % 19.3

145634972, % 19.6

Question Number : 144 Question Id : 145634245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

For two numbers ‘a’ and °b’, the geometric mean is 44/6 and harmonic mean is 9.6. Find *a’ where a > b.
Options :

145634973, # 24

145634974, ® 18
145634975, % 10

145634976. ¢ 12
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Question Number : 145 Question Id : 145634246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33

If mode of a data exceeds its mean by 6.3, then mode exceeds the median by:
Options :

145634977, % 2.1

145634978, ¢ 4.2
145634979, % 6.3

145634980, # 8.4

Question Number : 146 Question Id : 145634247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Find the median marks scored by 7 students as given below:

Roll number: |1 2 3 4 5 6 7
Marks scored: |40 |56 |28 65 17 |35 70

Options :




[
h

145634981, %
145634982, ¢ 40
145634983, ® 56

145634984, ® 65

Question Number : 147 Question Id : 145634248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Calculate the median from the following table:

Marks | Frequency
10-25 5
25-40 28
40-35 25
55-70 12
T0-85 6

85-100 4

Options :

145634985, % 42.3

www.eenadupratibha.net

145634986, ¢ 44.2
145634987, % 45.6

145634988, % 46.5

Question Number : 148 Question Id : 145634249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Find the mode from the following sample of cricket players ages:

24,23, 25, 23, 30, 29, 28, 26, 30, 33,29,24, 25,27, 22, 23,37, 25,24, 32, 28, 23, 28, 31, 35,21, 23, 22
Options :
145634989, # 22

145634990, ¢ 23
145634991, % 24

145634992, ® 28

Question Number : 149 Question Id : 145634250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3



Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.33

At a hospital, nurses are given performance evaluations to decide eligibility for merit pay increase. The supervisor rates
them on a scale of 1-10(10 being the highest) for Promptness, Record maintenance, Empathy and Communication
skills. To find the average, weights are assigned as 2 for promptness, 4 for empathy, 1 for record maintenance and 3 for
communication skills. Find the average rating, if a nurse obtained 8 for promptness, 9 for record keeping 6 for empathy
and 6 for communication skills.
Options :
145634993, # 3.8

145634994, ¢ 6.7
145634995, % 7.4

145634996, # 8.0

Question Number : 150 Question Id : 145634251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Negative Marks Display Text : 1/3
Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.33
Find the harmonic mean for the following: (approximately)

Class: 24 4-6 6-8 8-10
Frequency: 5
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145634997. ¢ 5.79

145634998, % 5.73
145634999, % 5.68

1456341000, ¥ 5.62





